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Subject Code: 3330703 Date: 06-05-2015
Subject Name: Data Management System
Time: 02:30 pm - 05:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.
English version is authentic.

RGN

Q.1 Answer any seven out of ten.

I.  Differentiate the terms: “Data” and “Information”.
I1.  Define “Data Dictionary”.
[11.  Demonstrate one advantage of Relational Data model.
IV.  Write full name of SQL and list any two data types of SQL.
V. Define “Relation key”.
VI.  Write SQL statement for Insert a new row into an Account table having null
value for column balance, ‘A01’ for ano and ‘anand’ for bname respectively.
VIl. Define term “Entity Set”
VIl Demonstrate one advantage of Data Independence.

Xl.  Define term “Relationship Set”
X.  List any four Group functions in SQL.

Q.2 (&) Explain Three-level ANSI SPARC database architecture.

OR

(a) Discuss any three advantages of Three-tier Architecture.

(b)  Explain Network Data Model with suitable example.
OR

(b)  With neat sketch, explain Client/Server Database System.

(c) Discuss any four Responsibility of Database Administrator.
OR

(c) Explain any four advantages of Database Management System.

(d)  Define “Query Processor” and List any six components of DBMS.
OR

(d) List any eight function and services of DBMS.

Q.3 (a) Explain Union Operation in Relation Algebra with example.

OR
(@) Explain Intersection Operation in Relation Algebra with example.
(b)  Discuss Sub queries in SQL with suitable example.
OR
(b) Discuss Simple Joins in SQL with suitable example.
(c) Explain any two DML commands with suitable example.

OR
(c) Explain any two DDL commands with suitable example.
(d)  Explain Domain Integrity constraint.
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OR
Explain Entity Integrity constraint.

Draw any three E-R diagram symbols with its representation keyword.
OR
Draw mapping cardinalities symbols with its representation keyword.
Explain Foreign key constraint.
OR
Explain Reference key constraint.
Write specific queries statement with respect to a database provided below:

Employee Table:
EMPLOYEE_ID FIRST_NAME LAST_NAME | SALARY JOINING_DATE DEPARTMENT
1 John Abraham | 1000000 1-Jan-13 Banking
2 Michael Clarke 800000 1-Jan-13 Insurance
3 Roy Thomas 700000 1-Feb-13 Banking
4 Tom Jose 600000 1-Feb-13 Insurance
5 Jerry Pinto 650000 1-Feb-13 Insurance
6 Philip Mathew 750000 1-Jan-13 Services
Incentives Table:
EMPLOYEE_ID INCENTIVE_DATE INCENTIVE_AMOUNT
1 1-Feb-13 5000
2 1-Feb-13 3000
3 1-Feb-13 4000
1 1-Jan-13 4500
2 1-Jan-13 3500

I.  Get all employee details from the employee table
I1. Get employee details from employee table whose joining year is
“2013”
1.  Get department wise average salary from employee table order by
salary ascending
IV. Select employee details from employee table if data exists in incentive
table

Write specific queries statement with respect to a database provided above:
I.  Update incentive table, INCENTIVE_AMOUNT = 9000 where
employee name is 'John'.
I1. Get Employee ID's of those employees who didn't receive incentives
without using sub query.
Write specific queries statement with respect to a database provided above:

Select first name, incentive amount from employee and incentives table for all
employees who got incentives using join

Write specific queries statement with respect to a database is provided above:
Write SQL Syntax to create EMPLOYEE_ID in INCENTIVES table as foreign
key with respect to EMPLOYEE_ID in employee table.

Show any three advantages of using Superclasses and subclasses.
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Employee Table

EMPLOYEE_ID FIRST_NAME LAST_NAME SALARY JOINING_DATE DEPARTMENT
1 John Abraham | 1000000 1-Jan-13 Banking
2 Michael Clarke 800000 1-Jan-13 Insurance
3 Roy Thomas 700000 1-Feb-13 | Banking
4 Tom Jose 600000 1-Feb-13 Insurance
5 Jerry Pinto 650000 1-Feb-13 | Insurance
6 Philip Mathew 750000 1-Jan-13 Services
Incentives Table
EMPLOYEE_ID INCENTIVE_DATE INCENTIVE_AMOUNT

1 1-Feb-13 5000

2 1-Feb-13 3000

3 1-Feb-13 4000

1 1-Jan-13 4500

2 1-Jan-13 3500
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Il Employee table & a®f 2013 ui st%? &3ci Employee ofl (Qotcl

Aaal

. Employee table &l (SutéRe y¥ou w329 Qciot ASAUSHHI Radl.
V. Incentive Table x/ 3et slat Adt Employee o] Employee table &/
(Qotct Aardl

GUR WAL 32lATP 20id oll GUuaL 53] o{lA U 5A3 [AQuilet v,
I o7 Employee of ot “John’ &let ll Aefl Incentive amount 9000
wySe sHIS ol Hee &l Ae 521

Il. o Employee o Incentive ot 40 &let Act Employee of Employee
ID & 5Q3] oll HEE qore Aadl,

GUR WAL 32ATP 20id oll GUuL 53] o{lA U 5A3 (Auilet v,
% Employee o incentive e sl ddl ol
amount, Employee Table 242 Incentive Table &/ join ofl He€el] Aol
GUR WAL 32LATP 20ld oll GUL 53] o{lA U 5A3 [Auilet vl

INCENTIVES table

First name 2o

incentive

ol EMPLOYEE_ID <« EMPLOYEE table ot/

EMPLOYEE_ID @ &ojct8 A<l 8l3et 5l woticlq SQL (Aot AUl

SlEURL 2Bl YUISAY ol AUSALR o cluRdl oll SIAEL %Y SR

*kkkkkikkhkikikx

4/4

03

03
(0} 1

0¥
09

(0} 1

(0} 1

03



	Seat No.: ________                                                           Enrolment No.___________
	GUJARAT TECHNOLOGICAL UNIVERSITY

